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For each question from 1 to 24, four options are given. One of them is the correct answer.
Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet (OAS). (48 marks)

1 A snail hides itself in a shell when it is touched.

This shows that a snail is a living thing because it

(1) cangrow

(2)  canreproduce

(3)  responds to changes

(4)  needs air, food and water

2 Which of the following statements are true for all insects?

A They have wings.
B They have six legs.
C They have three body parts.

(1) AandBonly
(2) AandConly
(3) BandConly
4) A/BandC

(Go on to the next page)



3

Study the flowchart below.

{

Animals

Question A

mammal ]

Question B bird }
{ reptile )
What are questions A and B?
Question A Question B

(1)

Does it lay eggs?

Does it have scales as its outer
covering?

(2)

Does it give birth to its young?

Does it have scales as its outer
covering?

3)

Does it have feathers as its outer
covering?

Does it give birth to its young?

(4)

Does it have hair as its outer
covering?

Does it feathers as its outer
covering?

(Go on to the next page)




4 Study the classification chart below.

Methods of reproduction
| [ l |
give birth to reproduce reproduce
young from spores lay eggs from seeds
A B C D

Based on the chart, which of the following is correct?

(1)
(2)
(3)
(4)

A is an amphibian.

B is a flowering plant.

C is an insect.

D is a non-flowering plant.

&5

|

The diagram below shows the life cycle of an animal.

T

adult

nymph

Which of the following animals has the life cycle shown above?

(1)
2)
(3)
(4)

frog

beetle
chicken
grasshopper

(Go on to the next page)



6 Study the classification chart below.

Things
l
[ |
Group X Group Y
[ l
book butterfly
rock plant
sofa snake

Which of the following can be classified in Group X and Group Y?

Group X Group Y
(1) robot bird
(2) bacteria | ant
(3) trée mushroom
(4) water pencil
7 Jing En was told that placing a dry stalk of celery in water would make it ‘fresh’ and

firm again.

Which of the following ways should he place the dry celery to make it ‘fresh’ again?

{Go on to the next page)



The diagram below shows the different stages of the life cycle of a plant.

C

Which of the following shows the correct sequence of the life cycle of the plant?

(1) A=>B-=>C
2 A>C->8B
3 B>A->C
4 C-=>B-=>A
Study the plant below.
A
B

Which part makes food for the plant?

(1)
(2)
(3)
(4)

o0 o >

(Go on to the next page)
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The table below shows the characteristics of four animals, P, Q, Rand S.
A tick (V) represents that the characteristic is present.

Animal
Descriptions
‘ P Q R S
The young resembles the adult. v v
It has three stages in its life cycle. v v

Based on the information given, which of the following statements are possible?

(1
(2)
3
4

Animal P is a frog.
Animal Q is a beetle.
Animal R is a chicken.

OO w >

Animal S is a cockroach.

A and B only
B and C only
C and D only

' A, C and D only

Which is the function of the human circulatory system?

(M
(2)
(3)
(4)

To give shape to the body.

To take in and give out air from the body.

To help different parts of the body to move.

To transport food, water and air to all parts of the body.

(Goonto the next page)
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Which body system gives shape to the human body?

(1)

(3)

(2)

(4)

The diagram below shows a model of the human digestive system.

X —-—_ rubber hose
v plastic bag
) rope
» bigger hose
U
l

1

Part X represents the mouth.

Which parts of the model represent where digestive juices are produced?

(1)
(2)
(3)
(4)

rope and plastic bag

rope and bigger hose
rubber hose and plastic bag
rubber hose and bigger hose

(Go on to the next page)



14  The flowchart below shows the properties of matter P, Q and R.

Matter

Y

Does it have a fixed shape?

No

l Yes

O,

Which of the following represents P, Q and R correctly?

A 4

Does it have a fixed volume? M@

Yes

P Q R
(1) ice milk air
(2) milk -air ice
3) air ice milk
(4) ice air milk

15 Jane wore a shower cap, as shown below, to keep her hair dry when she showered.

shower cap

What properties of the shower cap help ensure that Jane's hair is kept dry?

(1) absorbent and flexible
(2) waterproof and flexible

§3) absorbent and transparent

(4) waterproof and transparent

{Go on to the next page)
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The flowchart below shows the properties of materials A, B, C and D.

Materials

v

Does it allow light to Y
pass through? e > Is it flexible? Yes >
l No lNo
Yes
. . [EEE—— B
Is it magnetic?
l No
D
Which of the following can materials A, B, C and D be?
A B C D
(1) glass steel plastic copper
(2) glass plastic copper sieel
(3) plastic glass copper steel
(4) plastic glass steel copper

Matter is anything that has mass and occupies space.
Which of the following is not matter?

(1)
(2)
3)
4)

air
water
pencil
shadow

{Go on to the next page)
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The diagram below shows an air pump and a water tap connected 1o a tank.

air pump -——Elj

air (40 cm®)

water (120 cm?)

20 cm3 of water was removed from the tank and 30 cm? of air was added into the tank.

What was the final amount of air in the tank?

(M
(2)
3
4

40 cm?
60 cm?3
70 cm?®
100 cm?

Three materials, A, B and C, were tested for their strength using the set-up shown
below. Weights were hung on each material until it broke.

material

4

ﬁ%———v weight

Which of the following must be kept the same for a fair test?

(1)
2)
3)
4)

A type of material
B thickness of material
C  number of weights added to the material

A only
B only
A and B only

B and C only
10

(Go on to the next page)
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A measuring cylinder is used to measure the volume of an object. The object is first
placed into the water. Then the change in the water level is observed.

The table below shows the properties of four objects, P, Q, R and S.

. Does it allow light to Does it float in n
Object pass through? water? Is it waterproof?
P No Yes ' Yes
Q Yes No Yes
R Yes Yes No
S No No No

For which object can we measure its volume using the above method?

(1)
2)
3)
(4)

W X O T

11 :
(Go on to the next page)



21 In the set-up below, A, B, C and D are four rings which pass through a smooth plastic
rod. B is a magnet.

Which one of the following is possible?

A C D
) rublper steel steel
(2) steel magnet steel
(3) magnet rubber rubber
(4) magnet steel rubber

22 Obiject A is attracted to a magnet as shown below.

magnet

object A———"_J
Which materials can object A be made of?

A iron
B wood

C aluminium

(1) Aonly
(2) Bonly
(3) Conly

(4) AandConly

12
(Go on to the next page)
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A compass has a small magnet that ¢an rotate freely as shown.

Four bar magnets are arranged such that they are attracted to one another. A
compass was placed near end K and the direction of the compass needle is as shown

below.

-n
PN
»
»

.
*
*

''''''

position of compass

Which of the following would be the direction of the compass needle when the

compass was placed at end L?

N

M

3)

(2)

4)

13
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24 Diagram 1 shows a magnet held near rod X which is tied to a string.

A flame was placed under rod X as shown in diagram 2. After a while, rod X moved
towards the magnet.

Diagram 1 Diagram 2

Which of the following explains why rod X moved towards the magnet after being
heated?

(1)
()
(3)
4)

Rod X became heavier.

Rod X was attracted to the magnet.

Rod X lost some of its magnetic strength.
Rod X is made of a non-magnetic material,

14
Go on to Bookiet B
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For questions 25 to 34, write your answers in this booklet. The number of marks available
is shown in brackets [ ] at the end of each question or part question. (32 marks)

25  The diagram below shows a plant.

partY
(a) Name part Y. [1]
(b)  State one function of part Y. [1]

| 2

(Go on to the next page)




26

Compare animals A and B shown below.

Animal A Animal B

(a) Name the animal group that each animal belongs to. [2]

Animal A;

Animal B:

(b)  State the differences between animal A and animal B in terms of their outer
covering and method of reproduction. [2]

(i) Outer covering:

(i) Method of reproduction:

L_1¢

{(Go on to the next page)




27  The life cycle of insect G is as shown.

/ = \
aduit X
Y —
(a) Identify stages Xand Y. [1]
X: Y:
(b) State one difference between the insect at stages X and Y. [1]

(c) Which of the following animal(s) go through a similar life cycle as insect G?
Put a tick (V') in the correct box(es) below. [1]

mosquito butterfly cockroach

| s

(Go on to the next page)




28  Victoria kept two adult rabbits in a cage. She recorded the number of rabbits in March
and June in the table below. No rabbits were added or removed from the cage during
the observation period.

Number of
Month rabbits
March 2
food June 8
(a) List three important conditions the rabbits need to survive. [1]

(b)  Describe the change in the number of rabbits in the cage from March to June.

1

()  What characteristic of fiving things caused the change in the number of rabbits
in the cage from March to June? [1]

|_] 3

(Go on to the next page)




29 The diagram below shows the human digestive system.

(a)

(b)

Identify the part where

(i) digestion is completed [2]

(ii)  digested food is absorbed into the blood [2]

State the function of A. [1]
L. 12

(Go on to the next page)



The bar graph below shows the amount of digested food entering different parts of
the digestive system.

P
i

Amount of
digested food (g)

r———] parts of the

digestive system
C D E

(c)  Explain why no digested food enters E. [1]

L]~

(Go on to the next page)




30 Daniel wanted to find out which material, X, Y or Z, is most suitable to make a food
tray. He measured the length each material bent when a 500 g weight was hung on
it as shown. Each material tested has the same length and thickness,

table top

material

A
length the
! material bends

block to hold the .
material 41 500g
: weight
Daniel recorded his results in table below.
Material Length the material bends (cm)
X 7
Y 0
Z 12
(a) What property of material is Daniel testing? (1]

(b)  Based on his results, which material, X, Y or Z, is most suitable for making the
food tray? Give a reason for your answer. 2]

T 7

|3

(Go on to the next page)




The mass and volume of four solid blocks, A, B, C and D, are measured and recorded
in the table below.

Block Mass (g) Volume {cm?)
A 10 10
B 20 40
Cc 30 30
D . 30 20

Based on the information given, put a tick (v') in the appropriate boxes below.  [3]

Statement True False

(a) | B has the greatest mass.

(b) | C occupies more space than A.

The larger the size of the block, the greater the
mass of the block.

(c)

] 3

(Go on to the next page)



32(a) Erica conducted an experiment to investigate how the number of batteries affects the
magnetism of an electromagnet using the set-ups below.

| —

metal rod metal rod
w1171/ AN B0 000 AN

80 coils 80 coils

Set-up P Set-up Q

She recorded the number of paper clips attracted by the electromagnets of set-ups
P and Q in the table below.

(1) Complete the table below by filling in letters P and Q. 1]
Set-up Number of paper clips attracted
10
25
(ii) Explain your answer for set-up P in (i). [1]
| 2
9

(Go on to the next page)



(b) Erica wanted to find out if the number of coils of wire affects the magnetic strength of
the electromagnet. The diagram beiow snow ner set-ups,

| s |

metal rod metal rod
W /777 /7 7 lmWW ]
40 coils 80 coils
Set-up R Set-up S

Erica’s teacher told her that her experiment is not fair.

Suggest one change to set-up R to make her experiment fair: [1]

L 1]

(Go on to the next page)
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33 Lara stroked a nail with a magnet as shown. The nail became a magnet and was
used to attract paper clips.

magnet

(a) Using the same magnet, suggest one way to increase the number of paper
clips the nail can attract. [1]

Lara observed that the magnetised nail was able to attract a paper clip through a
plastic sheet as shown in the diagram below.

- paper clip
@

thin:plastic sheet

(b) Based on Lara’s observation, she concluded that a magnet can attract
magnetic materials like the paper clip.

State another conclusion that Lara can make based on her observation.  [1]

l!‘ 2

(Go on to the next page)
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Lara placed one end of the magnetised nail, one at a time, near objects H and K as

shown.
[ object H } < L!IEO

- N
object K < lm:()

She observed that H moved away from the nail but K did not move at all.

{¢) She concluded that object H is a magnet.
Do you agree? Give a reason. [1]

(d)  She concluded that object K is made of a magnetic material.
Do you agree? Give a reason. (1]

| 2

12
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34

A syringe laid on a table is filled with substances X and W as shown in Diagram 1.

w

\
plungerH ~

Diagram 1

When the plunger is pushed, it moved towards the finger as shown in Diagram 2.

w

\
plunger ———H\

Diagram 2
(a) Whatis the state of substance W? [1]
(b)  State two properties of substance X. [2]

A bicycle tyre contains 4000 cm? of air when fully inflated. When 500 cm? of air was
pumped in, the fully inflated tyre did not burst.

(c)  What property of air allowed the tyre not to burst? [1]

End of Paper

13
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25(a) | stem

(b) | keeps / holds the plant upright / supports the plant

26(a)

Animal A: mammal
Animals B: bird

(b)

Outer covering:
A has hair / fur but B has feathers.

Method of Reproduction:
A gives birth but B lays eggs.
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27(a)

X: larva / larval

Y: pupa/ pupal

Insect at Y does not feed / eat / move but it does at stage X.

v | mosquito v |butterfly cockroach

28(a)

Rabbits need air, food and water

(b)

The number of rabbits increased.

(c)

Living things reproduce.

29(a)

(b)

It chews / breaks down food into smaller pieces.

Digest food (into simpler substances) /
Break down food (into simpler substances)

(c)

All the digested food has been absorbed into the bloodstream at organ C/small intestine.




30(a) | length the material bends without breaking / how much the material bends without breaking / flexibility of the material.

(b) | Material Y.

It is not flexible./ It does not bend./ It is the stiffest.

31(a) Statement True False
(i) B has the greatest mass. v
(ii) C occupies more space than A v
(iii) The larger the size of the block, the
v
greater the mass of the block.

32(a) (i) | Q: 10

P:25

(ii) | As the number of batteries increases, the number of paper clips attracted by the electromagnet increases./
As the number of batteries decreases, the number of paper clips attracted by the electromagnet decreases./

Set up Q had an extra battery which made its magnetism stronger.

(b) | Remove 1 battery. / Have (only) 2 batteries in.




33(a)

Stroke the nail more times.

(b)

Magnetic strength/magnetism can pass through the thin plastic sheet, which is a non-magnetic material. /

Yes. Only magnets / like poles can repel each other.

No. Object K was not attracted by the magnetized nail,
it is non-magnetic.

Gas / Gaseous state

X cannot be compressed/definite volume.

X has a fixed shape.

Air can be compressed / does not have a definite volume.

EAP




